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ARIR X 3 34 73 2.2 100(75,0) — >93 240 140 0 0 1 2.9 0 0
PE IR X 3 34 73 2.2 100(80,0) — >93 210 200 0 0 1 2.9 0 0
HIEH X 3 34 73 2.2 | 100(12.5,0) =93 >93 570 420 0 0 1 4.75 9 4
T3 JE X 3 33 73 2.2 | 100(62.5,0) >93 >93 420 360 0 0 1 4.75 2 0
FHKX 3 34 73 2.2 | 100(42.8,0) >93 >93 335 225 0 0 1 4.75 3 3
A sl X 3 33 73 2.2 100(75.0) — >93 225 80 0 0 0 1.75 1 1
TR X 3 32 73 2.2 100(75,0) >93 >93 45 25 60 10 0 2.8 1 1
B 1 X 3 34 73 2.2 100(66.6.,0) >93 >93 260 350 640 70 7 24.25 56 4
38 M DX 3 35 73 2.2 100€0,0) >93 >93 300 150 610 40 6 27.75 7 9
IS IX. 3 33 73 2.2 100(33.3,0) >93 >93 285 135 720 60 8 11.15 18 8
SRS 3 31 73 2.2 100(28.5,0) >93 >93 250 205 620 70 5 4.3 10 1
K%K 3 34 73 2.2 | 100(14.2,0) >93 =>93 845 210 610 70 7 15.5 23 14
A 3 33 73 2.2 100(50,0) >93 >93 100 50 60 10 2 16.3 3 7
PEX 3 30 75 2.2 | 100(85.7,0) >93 >93 95 50 160 10 4 5.75 0 1
HalX 3 30 75 2.2 100(83.3,0) >93 >93 65 55 10 5 24. 25 1 2
T PR X 3 30 75 2.2 100(85.7,0) >93 >93 60 30 180 20 1 25 0 1
ZTFIX 3 34 73 2.2 100(50,0) — >93 0 40 0 0 6 1.15 4 0
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